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Sem-V/EE
Elec. Trac. -1

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question

carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.

gATId! SRT ST Yorrefl & 3o Tdo Fo
H Yo A I y<r9 fear siar 87
ATET X |

OR (3121a1)

How mimic diagram enables the TPC to visualize

the whole of the power supply system.

dodlotflo &I Q3 ﬁﬁjﬁ P DI E}EF} ]
fafye e 9 Jsrdr oxar 2 |

Briefly explain the various system of train lighting.
6
24 arsfem & faft=1 gomelt &1 faawor <

OR (312141)

Write short notes on any two:

(a) Conductor rail system.

(b) Railway coach air conditioning.
(c) System of remote control.

(d) Compound catenary.

NT5029

(i)

(iii)

(iii)

(iv)

3 1620504

(@) RS T
(?) 9 | ®Ig

Traction transformer is designed to have
large parentage impedance not less that
........ for 10 MWA transformer.

(a) 5.5%

(b) 6.5%

(c) 7.5%

(d) 8.5%

oo gRonfa 39 geR Gfaa 8id 2
fo saar yfaea sehie— afere 8l
fora®T 99 10 Q’Ho’:ﬁo‘{o R _b\'q,
............ d B T 8l

(1) 5.5%

) 6.5%

(@) 7.5%

(?) 8.5%

The contact wire made of alloys of copper
has hardness:

(a) Throughout the cross-section uniformly
(b) Confined to the outer surface only

(c) (a) and (b) these

(d) None of these

P.T.O
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Answer all Five Questions.

gl uig gl & SR o

7. What are different types of current collectors? Give

6x5=30

their merits and demerits.

faff=1 9oR @ aRT AUTRS T ?? SHD
I[OT TAT G Bl TS |

OR(3721dT)

Describe with a neat diagram the pantograph

collector.

ATH INRY & gRT U<IUTH GUTEH DI
faavor &Y |

8. Give layout of a traction substation and describe it.

6
S UECYE & WTHT Bl Siad gy,

faavor @

NT5029

(vi)

(vii)

(vii)

(viii)

5 1620504

Yord faeggd suvr ugfa 9 . uRuer

fas8qd &1 SUAIT fHar 8—

(31) arg fawpic uRueyr faw8ss & WU
¥

(d) SFsufRuer fawesd & wu o

(\) ~Aa9 dd gR® 9Rue fawsses @
wq H

(]) ygR dd grR® uRuy faw8ss &
wy H

The pantograph current collector is employed
for ............. current at ........... speed.

(a) Large, lower

(b) Large, higher

(c) Small, higher

(d) Small, lower

<% ORT AUTRS ... &RT ... qrel
@ forg ST fear smar @

(31) w1, =

(@) ds1, S==

(W) Bict, S=a

(2) Brer, =

The trolley current collector is universally
employed for .............. and ..............

(a) Tramways, Trovey buses

(b) Large current, High speed

(¢) (a) and (b) both

(d) None of these

P.T.O



O’'Ld

| ABkR §3 AD:le IRb BIp 1P
hpablle 22RR-3 Lie by hpablle 2RK-3

-urejdxy ¢/ dejroao pajensurun

pue paje[NSUl UdIMIq JOUIIPIP Y} ST JRYA

(lprRER)IO

| 3 k2R

¢d Plis | (kb lkhiler | hRablle SppRhe2
9

‘urejdxyq (pa[eisur sde[1oAo pajernsur are Ayp

| 3¢ Eklab
1® liellkdbko 1% RIDK Dpll2 bhb| b2 kb
L1a2dbh lah® DRap) Luklb] DR|BK kb DAk

‘BIpu]
Ul Uone)sqns uoroel) 9113099 snotea oy o3 Ajddns

Jomod a3eyj0A Y31y Jo juowdduerre Ay} urejdxyq

(lprR)IO

Y0S0791 S1 6T0S.LN

asayy Jo duoN (p)

SaLI9)Rq pUR
$9130q JO 103e10Ud3 [enpIAIpUl y3noay], (9)
9AOWOY0[ Y3noay [, (q)
s[rex ysnoay, (&)
parddns st soyoeod 103uassed ur Sunysgiy
10J 1om0d surer) 9119919 ddueISIp SUo| Uy

1B Bl B kb3 (2)

1> (p) P (k) (R)

Rasyly) (b)

ra|h ()

g 1T R bl @ poh
IMB Dl IMRR) Ry B @ b3
1§l BIohs 13 bin kb khijh &3

asayy Jo duoN (p)

oq (q) pue (e) (0)

poz1310u9-9(J (q)

paozi3iouy ()

S[re1 9y} ysnoayy

90INOS JUALIND (T Aq " SI AeJa1

o ‘Judsaxd SI uren ou udYM NI OB} UJ

Bk 3l B kb (2)

> (b) i (i) (B)

Rik pap IMB 186 (k)

Inpb 213 ‘IphiS (k)

—8 Bapld AR| @ T ——

"""" B h& oilkplh ®2IGE MR (213

670N 9

()

(x1)

(x1)

(1114)

¥0S0T91



1620504 14 NT5029 NT5029
OR (312rd) ®

Discus the maintenance of overhead equipments.

RRITN SUHTT & YERETd BT I B |

4.  Why bow current collector is not suitable for trolley

buses? Explain.

4 (xi)
g9 °RT GUTed gicll 996 & oy Suyad
Tt 1€ 2?7 wwsn
OR (3121d)

(xi)
Why separate feeding systems are required for the

trolley wire and the track rails?

ofell R Uqd ¢ ¥ & foIu 3rer wifST
e &) stoRa | 87 (xii)

5. What do you mean by TPC? Explain.
4

& O Y & 39 FIT gEsd © | At o |

7 1620504

a8 @) fagga g9 A, Il @4
H YPHIeE 2 Ysrd Afd...... UK DI
STy 8—

(31 ucht g

@) @eHIda gRa

(@) aft & aafeara SFRer ¥q ded

ELU
(@) =9 4 Big &l

Conductor rail system of supply is :

(a) Cheap and easy to repair

(b) Suitable for heavy current collection at
voltage upto 1200v.

(c) Universally used for all ac railways

(d) Both (a) and (¢)

Prsdex Vol Ried 32—

(31) T AR TR B H I

(@) SIferday aRT AU qAT dlecdl H
SUYFd

(&) Y o=ft Yed A STANT A A

(%) (1) dar (@) < |

Overhead lines for power supply to tramcars
are at a minimum height of a

(a) 10m

(b) 8m

(c) Sm

(d) 15m

P.T.O
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(xix)

(xix)

(xx)

(xx)
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Coach air -conditioning equipment includes:
(a) Standard refrigeration equipment

(b) Mechanical power generating equipment
(c) Electrical equipment

(d) All of the above

I TR B~ TF GHIAI BT a—
(@1 ss IBRoRIA I3

(@) I urer SRS A

(\) fagga a=

(?) Sugaa w

Requirements of a railway coach air
conditioning is /are

(a) To provide heating / cooling

(b) To supply clean fresh air

(c) Sufficient power requirement

(d) All of the above

Red I H ST Bl IAMaLIDAT

H gIdl 2 /23—

(31) aru=1 / 2fae USH & '

(9) *@=® qreil gar FEa a9wy
GIREZ]

(¥) gl wifda Smasasdar ysE s34

e
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(xiv)

(xv)

(xv)
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dR ¥ ®iCdc &l 1Y Y@ oIrdl &

SURI—

(1) <9 4 9T AT GUTES H
g4l & YIR gRT

(@) <9 9 a1 e # R grRo

() 4 9 g a1 i § ueR
J¥R gRT

(?) d=erume A RUT g1 97 § WR
JIR T

Electric circuit breaker is:
(a) Connected between current collector
and main wiring
(b) Provided on the electric locomotive to
protect electrical equipment
(c) Provided with a handle to trip it
(d) All of the above

faga afee daw 23—

(31) A9 AR AT ORT GUTed & €149
ST g3T

@) fagga areifed wr faga I3 &1
a1 & feg

@) fou o1 & fou 2o faar ga

(3) Sugaa w
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